Самостоятельная работа.
«Целое уравнение и его корни».
Вариант 1.
1. Решить уравнение:
а) (12х + 1)(3х- 1) – = 10;
б) (3х + 7) (3х – 7) - 3х(3х +1) = 5;
в)  -  = ;
г) (6х – 1) (х +1) = 20.
  2. Решите уравнение, используя введение новой 
       переменной: 
      - 3 (- 10) – 4 = 0.
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Самостоятельная работа.
«Целое уравнение и его корни».
Вариант 2.
1. Решить уравнение:
а) (8х + 1)(2х- 3) – = 1;
б) 5х(5х - 1) -  (5х + 3)(5х - 3) = х -3;
в)  -  =1;
г) (2х – 3) (х +1) = +17.
  2. Решите уравнение, используя введение новой 
       переменной: 
      - 4 (- 7) – 45 = 0.
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